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Code No 53014 R09
JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD
“PROBABILITY AND STATISTICS '
(Common to ME, CSE, AME, MIE, MSNT)
Time: 3 hours ‘Max. Marks: 75
= Answer any five questions mE =
All questions carry equal marks

l.a):  The Probabilities that students A,B,C.and D solye a problem are %% %a d - l

q-
respectively. If all of them try to solve the problem, What is the probability that
the problem is solved.

b): I =K. M ispidfin =0 < X <90 find: &
DK ii) the mean iii) Variance. [8+7]

find the probablhty that a g1'
i) Exactly 2 misprints

ii) 2 or more misprints.
The marks obtajned b

‘?;)::.

i) How many get mo;g“'i ) . '
it) HQW many 1 en’ 75% and 95% N [8+7]

3.a) A sample of
deviation isl

b). A sample of i: fe
" regarded as a sample
deviation 31 kgs? %

? s taken from a populatlon whose standard
énce interval for the mean.

4.2): In arandom sample of 400: 1ndustrla;l accidents;;4t was found that 231 were dueito
unsafe working conditions Find: :
i) The maximum error
. 1i) Construct 95% confidence interval for the proportion.
by~ 400 articles froni'a factory are examined and 3% are found to be ‘defective. 600
similar articles from a second factory are found to be 2% defective. Test the
s1gmﬁcance between the difference of two proportmns at 5% level. [7 +8}

5. A survey of 320 falmhes w1th 5 chlldren each revcaied the foIlowmg dlstnbutlon
Is this, result with the hypothesis that male births are equally probable? [15]

“{No. of boys 01 1253 4?':?:%?.5.
No. of families | 12 { 40 | 88 | 110 | 56 | 14







" 6a)

&

7.2).

b)

8.5)

ii} Avérage timé a machine spend:

Define:

i) essential state
A training process is €0
as 0, if not 1. The’

From the following data Calculate:
i) Coefficient of Correlation
ii) Stapdard deviation of y,__
=5 9 4 : SR
b =—b, =—,0,=3
200" 5
Calculate the coefficient of rank correlation: ) B [8+7]
53164175 50 (6480751 40[55]64]
y 625868 [45]81|60]68|48 50170

Define the terms;.

i) Expected quete length i) Waiting time

iit) Busy period iv) Mean arrival rate.

Weavers in a textile mill arrive at a departmental store room to obtain spare parts
needed: for keeping the ropms running: The store is manned by one:attendant.;Fhe

average arrival rate of weavers is 10 per hour and the service rate is 12 per hour.
Determine:

i) Average length of waiting line.

"'h¢ system [8%71

iii).ergodic state

arcov chain. If it rains considered

[8+7]







